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- ~demu B ARG LI8g/mL EEF A KR 5 36% (ww) ch@BA® 1 500 mL
1.LOMHCI "k;3i% ? (HCl#hEk B F £ 5 36.461 g/mol) (15 4 )

e BRE 17gmL £EF A LR S 85% (ww) mpife W 500 mL
1.0 M HsPO, k% % 7 (H;PO, 0% B B £ 5 97.99518 g/mol) (15 4 )
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L& Ksp [ Ksp v &4 Ksp
Fe(OH); |6 x 107° |CoS 6 x 107* | MnS 1.1x 1077
Al(OH); |5 x 1077  |FeS 6 x 107" |Fe(OH), |2 x 107"
Cr(OH); |7 x 107 Zn(OH), |5 x 107" |Mn(OH), |2 x 107"
ZnS 1.6x 1002 |Ni(OH), |1.6x 107'® |Mg(OH), |l.Ix 107"
NiS 1 x 102 |Co(OH), |2 x 107'°
Eh 25 PFo & gpfoih HoS 3R o I 34 KR -8 % B 4T (Fe'' ~ Fe¥'

C02+ . Ni2+
%43 1 2 Mg - Ca2+ ~Sr*" ~Ba®" ~Na" ~ K’ ~ NH, %
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25 g {r HyS L/mﬂ [H,S] 0.10M
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HiSay 5 2Hgg + S2_(aq) —[H I'[S ]=6.8><10_23 (25
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B ~BF i 43 NaOH ~ NayCO; ~ NaHCO; ~ % % %82 £ Ji 2 45 24 ch B 48 5 5
3.1596 g fie &l = 250.0 mL -k;3 7% - B=H ¢ 50.0 mL ;3 /% 14 bromocresol green i & 3y
A G %3 X T AL 01224 M 2 HCI 3% 40.15 mL - ¥ B~ 50.0 mL 7 it 2
phenolphthalein i* & 3577 & - JjF T3 ¥ 87 i’ 4< 0.1224 M 2. HCL 3% 12.66 mL -
’_:!_F Mg Aﬂ); é—;%a‘:a’rslrb;f;»fgr‘? PR ARG 7 ? (NaOH -~ Na,CO; ~

NaHCO3 sy B EE % 40.00 g/mol ~ 105.99 g/mol ~ 84.01 g/mol) (25 % )
bromocresolgreena‘ﬂ“rff?lj % ¢ §~F 5 pH5.4~3.8 ( 7 d %g LI Ed 5F 4 )
phenolphthalein :}F] 75 A 2 ipv Bl = pH10.0~83 (pgpd i+ @ & 5 —& d )
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1.0

0.8 [

o 0.6F
0.4}
02}
0 1

T ~B~20.00 g 5 CHsOH ek i3 iRt el T 5424 5 | L% € 0 KBr 2 ¥ 2
58 ik 4r » CeHsOH ek i @ % 4c » 25.00 mL 9 0.01200 M KBrOs 1% 2% %
(BrO; +5 Br +6 H—3 Br,+3 H,0) - 781t (CsHsOH+ 3 Br,—C¢H,Br;OH
+3 Br +3 H') o =24t ¢4 5 L4~ 10.00 mL £70.1058 M s:E & KIz % o &
BRiEE B, (21 +Br,—L+2 Br ) © & > £ 12 1047 mL 0.09192 M & % £
FLdh 10853 R i T i eng (2 057 +L—>8,067 +2 1) o {4 jf 2 gk o
F3- 8 CHsOH 2t 57 i » 7 8 2 (CHsOH #hy B F £ % 94.114 g/mol)
(25 »)



